wooouruonsid//:dny

' CHEMISTRY : Paper 1= : 2016 Annual

Inorganic Chemistry .
Az ;. wlt ore uE & IO ST | e FEIE © O U3 e e B
wft ol & sm T | -
UNIT - 1

FERIOT AcE B T T TR B 7 3d-THEHOT el ¥ A, Hohal, TO]
R Ul g faar fafag |

What do you mean by transition elements ? Write down
name, symbol, atomic number and electronic configuration
of 3d-transition elements.
OR
RreafRa w ST |
(i) Sawor e aftadiier st saeen maRfa s 2
(i) arfymizy S o g B9 § 7
(iii) Tizwaor aa At dfres T 2 |
Explain the following :
() Tansition elements show variable oxidation states.
(ii) Most of the transition elements are paramagnetic.
(iii) Transition elements form complex.compounds.
UNIT - 2
(30) L-S Zwa o & 7 et Sl forfe |
What is L-S coupling ? Write its utility. |
() Piferm o & 7 geftr wirmor Skt & a6 Bl T aweng |
What is stereochemistry ? Explain the stereochemistry of
elements of third transition series.

(H)Sdﬁﬁﬂﬁﬁaiﬁwmmﬁmﬂ%m@aﬁ#mqﬁf(ps) I 7o

/|  Calculate the magnetic moment (u,) for the ion
of 3d* electronic configuration.
OR
() ey i ey swron Soft & el it syrafars Breard srnet wam &
1" wwor wae A ) “lonic radii of the elements of

second and third transition series are almost same.” Explain
by giving reasons.

(@) Fft o wfi-Rre e @ s v @R 29
What do you understand by Curie and Curie-Weiss law ?
() S =001 A Q& a7 avead & 7 TAeE |

Explain the meaning of spin only value.
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UNIT - 3
(3%) ISt =ik T & ) IETRT =6% o forwor it s iR |
What is radox cycle ? Discuss analysis of redox cycle.
(=) Frafafaa % IUPAC 7w fofag
Write the name of the following according to TUPAC :
(i) K [Cr(SCB), (NH,),] (i) [Ni(CN),CLJ*"
(iii} K, [Cr{C,0,),] (iv) [Cog':")ﬁl {Cr(CN}]

(a7) St Rygia o & 7 3% avR R Pafafaa AR & dw=n
§RARY: What is Valance Bond Theory ? Explain the
- structure of the following compounds on the basis of vaiance
bond theory :
[Co(NH,),J** and [MnClJ*
(=) FrmforiRea ov wifdva fooaforl e
" (i) S Ryaia (ii) TRETHS SRTE
Write shott notes on the following :
(i) Werner's theory (i) Structural Isomerism
UNIT - 4
() AR @l & Aergel & fedor S e
Explain the extraction of Lanthanides from Monazite mineral.
(@) T A o uT oiteRel A wHrTanl & sl fiftng |
Discuss the similarities between later lanthanides and later
actinides. http://prsuonline.com

OR
() RFam & Np, Pu aur Am Fr gurg Fet 6t Rremas Fewior il st
TR | Explain the solvent extraction method for

the separation of Np, Pu and Am from uranium.
(2) fFrafeRaa =1 g (i) FeiEe W
(ii) ST +4 sifaferor sraeen malfa swr i |
Explain the following : (i) Lanthanide contraction
(it) Cerium exhibits + 4 oxidation state -
UNIT - 5 .
(a1) ToreTares <o SO 3 ATUR W Rl G &TRY Y TTHHATRR |
Explain acids and bases on the basis of solvent system
concept. |
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(@) z wifrar & 8 awtt Feafalea afibeael S quf 3R s = am
forfa | Complete the following reactions occurring in
liquid ammonia and write name of reaction :

(i) NH ;NO, + .......... -» KNQO, + 2NH,

(i) Zn(NH,), + 2KNH, — ..........

(iii) (NH,).S + 2AgNO,; — .......... + NH,NO,
(iv) [Cu(H,0)4)** + dNH,; — .......... + 4H,0

(1) Frsfer foremas = & 7 faremal i s wfka wifga R | What is
non-aqueous solvent ? Classify the solvents with exarnples
(F) BT
(i) IBam AwEe F g9 Heht SEsirEge # wie s

LR I S SR TR R Y

(if) R TR T SiREw TewnT 28 TeR SRR A e
wWa &) (iii) WefRw srreRe aur TR fEEREE W 3
TR SRS A ey smar d |

What happens when :

(i) Potassium bromide is dissolved in liquid sulphur dioxide *
(il} Thionyl chloride and cesium sulphite react in liquid sulpht

dioxide. (i) Potassium iodide and antimony penta-chlorid
are mixed in liquid suphur dixoide.
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